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1) 4RET 4, w5

2) FRET -2, WET2
(3) AREUEX —1, WEIL6
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1) x: #RET —5ay?, WEIL3
vy REIE —bax®, WEIX 2
a: FEIE—5x%y% WwEIT 1

2) x &y REUT 2ab, WEIT 4
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(1) 4x*—2x—5—3x%4+8x—3
=(4—-3)x%4+(=2+8)x+(—5—3)
=x>+6x—38
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(2) 3a’—ab+6b>—5a%+9ab—4b2
=3—=5)a’+(—1+9ab+(6—4)b?
=—2a’+8ab+2b*
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3) —2x'4x3—8x2+T7x—1+4+2x"—3x°+x+5
=(—24+2x* +(1=3)x3—8x24+(7T+1)x+(—1+5)
=—2x%—8x%+8x+4
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(1) 242 —1+45x4+x*—3x°=2*—3x3+2424+5x—1
2) 2x%4+xy+3y: —Tx—2y+5

=222+ (y—T)x+(3y2—2y+5)
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1) A+B=4-3)x*+(=3+1)x+(=5—-2)2x+(2-7)
=x°—242—7x-5
A—B=4+3)x3+(=3—-1D)x?+(=5+2)x+(24+7)
=Tx%—4x*—3x+9
2 A+B=2—-4)x*+(—1-1Dx?+2x+(—1+1)

=—2x°—2x4%42x
A—B=2+4x3+(=14+1)x2=2x+(—-1-1)
=6x°—2x—2
B) A+B=(5-3x+2+4dxy+(—1-2)y*
=2x%+6xy—3y?
A—B=(5+3x"+2—d)xy+(—1+2)y*
=8x2—2xy+ y?
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2A—B) —(4A+B—-(C)=—-2A—-3B+C
=—2022%4+3xy—y?) —3(=3x%—xy+2yY) +(—x>+xy
+35%
=—4x—6xy+2y°+9x2+3xy—6y°— 2%+ xy+ 3y
=(—4+9—Dx’+(—6+3+1)xy+(2—6+3)y*
=4x%—2xy—y?®
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1) 224X Tx2=(2x7)x**+?=14x5

(2) 4a’bc?x(—3a'b3c?) ={4 X (=3)ja’+'p1+3c2+2

=—12a""c*

(3) (=2x%9)°x(3xy%)*=(—=2)(x?)°y* x 32*(y°)?
=(—8)xby3x9x2yb
={(—8)X9}x6+2y3+6
=—T7248y°
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(1) 3x%3x%—5x+2)
=3x%-3x%4+3x%-(—5x)+3x2-2
=9x%—15x° 4 612

2) (x*—2xy—3y%(—xy?)
= 12X —xy®) —2xy(—xy*) = 3yH(—1y?)
= —x°y? 4+ 2x29° + 3xy*

B) (x*+3x2—4)(x—2)
=(x®4+3x2—4)x+(x3+3x%2—4)-(=2)
=x*4+3x% —4x—2x°— 64248
=xt'42°—6x2—4x+8

4) (x*—3+4x%(2+ x?)
=(x34+4x2-3)(x%+2)
=(x3+4x2—3)x%+(x3+4x2-3)-2
=x°+4x'—3x%+2x°+8x2—6
=x54+4x* +22°+5x%—6

5) (x+ y(x*—xy+2y7
=x(x?—xy+2y%) + Hx2—xy+2y?
=x3—x2y+2xy2 + x2y—xy? +2y°
— 134 xy2 4 297

6) (22—3y+1)(x+y—2)
=2x—3y+1)x+2x—3y+1)y+(2x—3y+1)-(—2)
=2x2—3xy+x4+2xy—3y>+ y—4x+6y—2
=2x%—xy—3y2—3x+7y—2



